
�
�
�

�

�
�

�
���������	
��	
�������
�
�

����������	�
����
������
�����
�����
��������������
�������
������ �!������
��"�!#�$
���
���

�
�

�

�
�

�

�
�

�

��%�&�������'�
�

�
�

�

�
�����	���	��������	���	���� ��!"����	

#��	����	����	$�����	%���� 	

$����	$����	�	

#�&
'��	(������"��	�	)����*��	

$� ����	
+�&'	�	'+'	'�+'	

									���	
���	�	+�+	

	,�	

						-�.	
+�&'	�	'/�	,+
�					

���������	��
�����
����������������������
������������
�

%�����"	���	0�������"	���	
1����	���	2����3����4� ����4����	
��	�������� ���5����	�����	���	
���������"��	���	6 �����	6��3���	
���	-����	07
6)��(2$	
89 �������:



��$�6)$7
	
;�	
������																																																																				+	=�2�%%7
-�22�
�	#7;	%7227;�70
(227�

(
�)����%�*��������������������������������������������������������������������������������������������������������������������������������������'�

+	 =�������������"	���	%�����"�������	

+��	 ?��������	���	�������"�4��������"�������"	

������������������������(��������5����
��������(�������������
���-��
����-)	1
������
�
����� =���5��)�� ���� (���5��	4
����� 8
�� ������������� ���� ����
��8����� ���� ����

������������1
�
	������ 4��3����� 4�� �������������� 48������� *�5�))��
���	���

�	����)���� ���� *�5�))��
���	���.		����)���� ��� ���� .�����3�	��%�
*�5�))��
���	��� ��	����)���� ��� 1���)������<����������� .�����3�	��� ����� �	�

7)���������� �
5�������������4������ :)	�	������������ C6�1��%� $������� �
������ ���

�����:)��
���	��	�C)		���
���;�
��)��
5�����������$
����)�
�/4%�%���:�����C)55���
#91��0%� *�5�))��
���	���.		����)���� ����� �����3��� :)�� 
����;� 4�� ������ ��� ����

S���	�(2�����2������������5)		�%���������	�5�)��������.		����)�����
��������������

8���� 2���8������� �	� ?��4�� ���� 1��	��������� $����%� ��42������ 1
���5��3����
.		����)���� ����� �	� 7)���������� ����1
���5�������3��� 	��� ?
���5�������	�������

5�������';��Q	�����4��������%�

���� ���� ����������� :)�� D��8
������8�����E� 
�� ���� (��������5����
���� �������
(������������� �	� $������5� 
��� ���� =���5��)�� ���� (���5��	4
����� ���� �)�������� 4��

���2�5���������%��
5������1
���5��;�����:)��*���������������(����������������)�������

=
�	���
���������8�����;�	2����������������	�=
�	�:��������;���:)������:)������	�
(����������������3�����
�������������	��������
������������8������56����%�������	�

	�5�)��)�)�������� ?
�
	����� @��
	��
5������� ��� 
������
����3�	��� 8
����

D,������
�������E� ������ (����������������3��� 
�������� ���� ��3����� ��
������������
�
5�������	����)���� ������ ���� *�������� ����
��� :)�� :)���������� ���������

����	�������������
�%�

��	�����2���� ������������ ���� ���
�������� ���� 	
��������� :)�� 
����� ��� ����
C�
�����3�	�� �������
������ ?��4�� ���� $����� �
��� ��	� ���������� ���� ��������

��8
��������	3��������������������
�������
�5����5�����5��	�4����������7���
�������

=
�	�����4���%�

.���4������ ?���)���� ������ ����5��6��� 7����1
���5��� �
������ ��� ���� +	������� 
�%�

�
5�������8������ :)��
�����*�������;� .���4�����������������.���4������;� ��3����� ����

��:��	����
�� ��� ���� (���� 
��������%� ���� ��	� 7�������
��
�4� ���� :)�����������
�F1�������8���������
5������1))���������.�����
�	�������3������
�����2���;�8����
������

�����������4����:)��7����1
���5��������
�8�������������4�������?���)����4����8
�����

���%��������
��
�4�����,
��8����2��������������=�������������4���4������������8����

���8������������
���3���
������
������
���?�2������;�����������4�����	��
��)��������

7����1
���5���������4���� ���	
���� 4�� 7�������������� ����1
���5��3��� 52���������


��)�)��� :��������� ��������7���
��� ����
�5����1�
����
�����	��	����)�����������

����4��������8���%�����7�������
��3�4���8��� ��	�7)�����������8
�� ����
��� :)��

:)����������	��������������=�������������4���4<�)����:)��(�������������4����������


��� ���� :)����
������ 7��������� 	��� ���	
���� �������
������ 
��)�)�8)�5��� �
�4�
�����		����I�
���3������I�
����3�%�



��$�6)$7
	
;�	
������																																																																				+	=�2�%%7
-�22�
�	#7;	%7227;�70
(227�

(
�)����%�*����������������������������������������������������������������������������������������������������������������������������������������

���� ���� 7������������������� ������� =
�	����1�2������� 
�� ��	� 
��� -��
����

-)	1
��� �������	
���,-$
(.�#� 56����� ����
������
5����������	����)����������
���4���������8�������8������
5��:��*���������;��F�'��������;��F�'���C����
5�������

S��*���������������������������8������
5��:�������:�����1�������?�)�
�������8
�

�;�� F� '��� C��� �
5������� S�� *������ ���� ������� 
��������� 8�����%� (
�������
�
5�������������4����������������@�6���)���������8��5�������������	�=
�	�������

:)������������F1�������:)��4)������?�2�������������3�������(��������
������������

����(��������������������%�

,
���������3�4��������+����4������������������	6��������)1��	
���7��������������
���

����	�(������������
�����������;����5��	����(���������	����
	����=
�	������
��4��

�����)�8����������
5�)������������
������������
����(������������4���4�������@��3���8���
����(���	�����;������
��@��3��S���������1
����������������(���8�������
��;����������

�������	�=
�	������		����@�6����
������������%�

����������������������
������������
���
��8�����������4���������)���5)	����������
?
���5���� ���� (���5��		��������� 4��)���� ����� �
5������� ��� ���� .�����
�	�����

2���8�������	��� ��	� ?
���5���C)���5��:� �	� ��������*�5�)	�����������;� ���
���� �	�

�������� '� J� '�� Q	� 
��)4�����%� ���� 
��
���� ��� ���� (����
���� 4��)���� ����� 
����
8����������� #����� ���� ����5��6���� ��������
������ 7����1
���5��5)���5��:�� ���


������
����3�	��� ��� �����	� ?
���5���@�6����������� 4�� ������%� .��)����� 56�����

�
5������1
���5��� �	� @�6����������� '�'�� Q	� ������� 
��� 
���
��5�3������
���
�41
�
	�������������<�
����4�����������5��:��3�������������������2������������������


��
���� �	�$������5� 
��� ����=���4������� ���� .���5��)������5�;� ���� ������ ��3������


����6��� :)��-)�)�
:����� ������ ����4������ ?���)����
��� ������ ����4������� ?���)����
�
����;�
���5
����8�����%��
5��������������(���������8����������4�:���3�����������	���

�6�������������:��3������:)��
���	������������������������5)��������4������� ���(����4��

���
����������
��4�8������
���7����%�

���� 7)������� ������� 
��� ���� $
��;� 8���� ����5��:��3��2���1�2������� :)�� (�������������

�
������������������5)��������4�����	6��������	
����8������56����%�

C)������)F��� ���� 5���� ����������� ?
�
	����� 4��� [���1�2����� ����	�5�)��)�)��������
.�����
�	����<�
���3�� 4�	������� ���� ������4������	� �������� :)�� ������������

(��������
������	
��
�	��%� C)����
��)���� 48������� C)������)F��5)�4����
��)����

���� 
��)�)�1
���5���� �48%� �
5�������C)�4����
��)���� 8
���� ���� �������� ����
(�������������������
�������
������
����:)��:)����������������4����8
����%�

� �



��$�6)$7
	
;�	
������																																																																				+	=�2�%%7
-�22�
�	#7;	%7227;�70
(227�

(
�)����%�*����������������������������������������������������������������������������������������������������������������������������������������

+��	 �������"�4��������	���	���������"���	

�������������������[���1�2���������(�����������������4���4�����(����������������3���

�������	
���,-$
(.�#����.�����3�	���56�����8����)����4��
		�����
����8�����P�

'%� 
��������� :)�� ������ �
5���������
������ :)�� ��8
� H��� C��"	�� ��� ����	�

������
����
�	�8�������������	�(���8���������8
��������'���
��"������������

(������������ ����	 ���������	 %�������� ���� �
	��� )���� 8�������

�
5�������������4������/��
��)�3��������������0�������
���:)�����*������������
=���5��)�� 
��� ��8
� '�� C��"	�� 
����4�������%� ���� �
5����������5��)�� �������

�
������*��������
	�����8
��HL�������L%�

�%� ���� $
��8����4���� ���� �
5����������5��)�;� �%�%� ���� 
��
�	�� ���� �
5�������
5)�4����
��)�� 
��� ���� $3����� ���� 
���
���8����� :)�� .���������
�	�� ����

(������������;�����3���������
��)�3����������������8�������
�����*������;���L�

���� 
���
������
������ 8������ �
��� ��8
� H� *������� ��������%� ������
(��������5���8���������1���������������������7)�
�����4����������)1��	
����

(��������	�������� ���� ������ (���8�������
��� '���
��� �)��������

7���
���1�)��)��� 4��	����� ���
�%� ���� :)	� $���������� �2�� ���� ������������
@��3��������������
�����������(���������
�4	������8�������
	�������3����%�

�%� .�� ��	������� 
������
����
�	�	��� ,	 ��5���"	 ����������	 ?�������� 8�����


��������� :)�� ������ �
5���������
������ :)�� ��8
� �%���� C��"	�� ���� ����	�
(���8�������:)��'���
��"�� ������
���:)�����*������������=���5��)��
�����8
�

'%����C��"	����4����%������
5����������5��)�������	�����8
�G�L��
������*�������

�
	��� ��������� ��������� 
��� 
��� �	� 7������� )���� ��3������ 
����)1)�����
�
5������<������%� ���� �������������� ���� /��5
�����0� �
��������

�
5�������������4���� ������ ���� ?�)�
����� /C
1%� �%'0� ���� ������ ����

7)�
�����4���� ������ )1��	
���� �����	�������� :)�� ������������ (���� ����
D:����
������E�(����8���������������	�(���8��������
������*�������8�������
���

'�� L� �
5��������� =������
������ 1�)��)���4����%� ������ �
5����������5��)���
���

8�����:�������%�

�%� ����
�8������������ D8
����E�C��	����5��)�� :)������ �)������1�)��)���4�������

�������%�5
����������������	�������������)1��	
���������	��������:)��������������

(���� ���� D:����
������E� =
�	����� ��5�3��� 8�����%� ���� ����	� 
��� ��	� �)����
���������� (������������ 	��� ����	� (���	������� "� 
����������3����:���3������ 8���

��	� ��1�2����� @��3�� ���� ����� )1��	
��� 7���������� ������������ (���� �	� =
�	�

1�9��5
������������	6�����%�������(���:��8����������;�����4%�%������������������
�	�=
�	���8��������?�)�
��������:)���������8�����;�8����������)���������

�����������7�������4�����
���.���������
�	������=����������		���8����������

��:��	����
�� �
5������1
���5�����
����� (���� 
��� ���� �
���� ������ ���
������
D#)��3�	��E����4����
�����=
�	���������D�����	�����E%�

� �



��$�6)$7
	
;�	
������																																																																				+	=�2�%%7
-�22�
�	#7;	%7227;�70
(227�

(
�)����%�*����������������������������������������������������������������������������������������������������������������������������������������

�%� .������	�$)��9�
�	�	�����8������
5��:�	�������
�5��
5�������	����������	�

�1����������� :)��,	 ?��������8�����
��������� :)���������
5���������
������
:)����8
�'�%����C��"	����������	�(���8�������'H��
��"������������(������������

�����=���5��)�� 
��� ��8
�'%����C��"	�� ��4����%������
5����������5��)�� �����	���

��8
�'�L� ��)�4� ���� �	��������
5�)�� :)�����6�������
5�������������4�����
���
����������
�8��������?���)�������	��1�����
	��������������6����
���
�������

����*���������	���'���
���	�(���8��������	�
������
����
�	%�

 %� ���� 7��8������� ���� 
����)1)������ �
5�������������4�����
��;� ���� �2�� ����
��8������
5��:����1�������������	�������8���������A����������������
����������

������������ ��� �
����� (��������	�������� �	� =
�	� 8������ ���� 'H��
���	�

(���8������� ������ ������ (������������ 	��� $'��������� �
��� ��� *������� '�� L�
�
5��������� =������
������ 1�)��)���4����%� ���� 
��
��� �)�������� [������������

��8
���
����
5����������5��)��8��������������	�7��������
	�����������%�

G%� .����	�
������
����
�	�8���������?
���5�����
�������	�?
���5���@�6�����������
N� '� Q	� ���� '���
���	� (���8������� "� �� ������
��� :)�� ��� *������� 
��� >�����

48�������'L������L�=������
����������4����%�
��)�)�1
���5�������@�6���'�'��

Q	�8������:)������
�8��������?���)�������	����
�����������
	��9���������
����:
�����A
��� ���������4�%�����=���5��)���
������������?
���5����'�����'��Q	�

�
���������
����������5
������������
���
�����������?
���5����5�������'�Q	%�?
���5���

�	� @�6����������� '� ���� '�� Q	� 8������ ���� ����	� '���
����� (���8������� ��'�
������
���:)�����*�������
�����8
�'�L�=������
����������4�����

H%� .	� :���������8����� ��
�5� 1
���5���	������������ 23�� �������	 ��	 )���!�����

8��5��� �
������� �	����)���� ���� (��������
������ ������ ���� (������������
8������������3�5������������
����	�
������
����
�	%�����=���5��)���
�����������

����1
���5����N�';��Q	������������'H��
���	�(���8���������'��
������*�������

�)���HGL%�.������	�5�)��)�)����������:
�����?
���5���@�6�����
5��)��'�����'��Q	�
�3��������=���5��)���
��� ������
�������A��������������������������*�������48
��

�������5
��� ��������� 
��� 
��� ���� ���� ?
���5���� 5������� '� Q	� /��8
� ��L�

=������
�����0%�,
������*�������8������������?
���5���@�6�����
5��)��'�����'��
Q	�
���������=���5��)���
���:)����8
��HL�:�������%�

�%� ���������������:)�
����
�������?�2��������������
�������(
�)����2��
��������

���� +	8����9������ ������� ��8
����;� �
��� ���� C��	����5��)����������� ������
�����������
�5���(�����������������4������	���8������?��5�;������)�����	�������

8������	2����;� �	�)� �6���� 
���
����� 8���;� S�� �6���� ���� 
���
������
������

����5��:)��.���������
�	������(�������������	
��
�	��
���3���%������8��������
���� :)����������� ������� ����3����P� ���� ����������� ���� �
5�������� ����

��
��1
���5��	��������� ��� ��	� $)��9�
�	� �������;� �
��� ����

=������������������ ���� (������������� /��� L0� ���� ���� �9��������� ����:
�����
?
���5����6���� /'�'��Q	0� �	�)��6���� 
���3���;� S�� �6���� ���� �
�������?
���5����

�48%��
5�������������4����83������������
�������������������������%��



��$�6)$7
	
;�	
������																																																																				+	=�2�%%7
-�22�
�	#7;	%7227;�70
(227�

(
�)����%�*����������������������������������������������������������������������������������������������������������������������������������������

'�%������ 
�����5���� ����5�� :)�� *������ 4�� *������ 4%�%� ������ ���
�	��� :)��

$�����
��)�)����:)������	�����4�������*��	���������������,3���5
���	�������	�
5)�4����
��)��:���2������ 8��5������ (������������ ��������� ������ :����������

8�����%� ��� ���� 
��
��� ���� (��������5����
���;� ���� ��� ������� ������� ��	�������

8�����;� 
���� 	��� ����������� �
:)�� 
��4������;� �
��� (������������ ���� ���	
�
��,-$
(.�#� �
�� .���5��)������5)� ��� 1���)������<����������� .�����3�	��� ���

����������	� *
��� ���5��� 56����;� �
� ���� .���5��)������5� ������ �
�������

����
�	��1)���4���������5��6����
��)�)�1
���5��������������
�����8���%�

''%��)� ���
����� �������� �
���� �2�� 
��	�����4	
�5��� ������ �
�� :)�� ������

�����		���� 
��	�����4���3��5�
���� ��8
������ *
�� 
�� �����4� ������

���8���3�����?
���5���
�%�A�	�7�������������?�2����������������:)�����������
�F1������� �	� $������5� 
��� ���� 1�)4����
��� �
5����������5��)�� 8������ ����

�����4�
5�)���� :)�� 1
���5���������������� $
��	
�5��� ������ ���8���3�����

?
���5����������(���;�8���4%�%�����		��1��4�;�
����������8����)���P�

$!3	%��4�	 	 	 2����@��4���	 	 ;���4����	

��?'� � � � �� � � '��L�T���L�

��?�� � � � '�� � � '��L�T�'�L�

��?�� � � � ��� � � '��L�T��L�

�

�������� ���	
����� ��
����� ���� ����	
������ ���� ��������	
�� �������������� ������� ���� �� �� ������
������!�!"
���#$�������!�%������&"
������'�������(��)
���!��!����	
���������	
���������������*�

�

���� ?�2������������� 4��)���� �
�� ���� ���������� (������������ ���� ���	
�

��,-$
(.�#� ���� ��3�����	� �������� ������ 
����)1)����� �
5������� ��� ����
.�����
�	����������������4�
5�)��	����������
�
�)��1
���5������������������?��


��	�����4	
�5������������8��1
���5��3���@��
����)����
��4�������%�@�����

�����������	��������@��
	�1
���5����������
	���	�����)����>
������������5����

���� ������ ����5��6��� -)�)�
:����� �� 56����� �����4�
5�)���� �����������

48���������?���������?���
��	�����4	
�5�����8
�����8�����%�

�



��$�6)$7
	
;�	
������																																																																																																						�	1�;==�2�%%7
-�22�
��

(
�)����%�*�������������������������������������������������������������������������������������������������������������������������������������� �

�	 1��@@�������������"	

A���I�
�����4�����������
����	������.�����
�	�������5��	����������������(������������

������,-$
(.�#�8�������	�>������������	����
5�������:)	�	������������C6�1���

���� 	��� +��<���3��	� :)�� 
����� 	�5�)������ ��������
�����;� 
�� ����	� �����		����
A���1��5�� 1���)������<���������� .�����3�	�� ������ (������������� �����4)���%�

A������4����8
�� ���� ���5��)������� ���� (������������� 
.=�-(�
,�=�-)	1
��� ������

�����������3�5�� ��
���� ������������ 	��� ?���)���� "� *�������� ��� ������)�������
=3�	��%� ���� C�����5� ���� =
�	�������5��	���� ���� =
�	���������
������ 
��

.���������
�	������(�������������8�����	���5)�����������������
�1
���5��	���������

���� 8������)����� C��44����.	1
5��)���(���5��		��������� ���
�������� 
����4��������
�48%��
��:���)���%�����8��������������������������*��������������8����)���P�

�� �
5������1
���5����	�@�6�����������'�'��Q	�56������������
���
���
��5�3������

���
�41
�
	����� ���� ���� <�
����4������� ����5��:��3�������������� ����
�2������������������ 
��
���� �	� $������5� 
��� ���� =���4������� ����

.���5��)������5�;�������������3������
����6���:)��-)�)�
:���������������4������

?���)����
�������������4�������?���)�����
����;�
���5
����8�����%�

�� ���� ����	� (���8������� :)�� '���
��"�� ����	 ���������	 %�������� 8�����

����������(���������������� ������
���:)�����*�������������
5����������5��)��

�	���8
��HL�������L���������%��

�� ������� (��������5���8��������1������ ����
��
��� �)��������A��
		���3����

�����������7���
���1�)��)����4��	��������
�%�

�� ���� :)	� @��3������������� ��,-$
(.�#� �2�� ���� 
�������������
@��3����������������
�����������(���������
�4	������8������������������

7���������������
����	���������
5������������?
���5��4
�����	���������������

S�8�������� ���������� ���� +	������������������� �)��������
���
���������8��5�����������3����%�

�� .������	�
������
����
�	�	���������������	?���������8���������'���
���	�

(���8������� �
��� ��� *������� 48
�� ����� ��������� �6����� �
5���������
=������
��������	������
����)��������8
���
�%�����@�2���������2���2������
����

�������������������������)1��	
����7����������������������(�����	�#����
�	��������

�������7�������4���� 
����
��� ����=��������� ������%� .�� ����	�$)��9�
�	�	���
��8������
5��:�	� ���� ��
�5� �
5�������	����������	� �1����������� :)�� ��

?���)����8�������������	�'H��
���	�(���8������� "�������������(������������

����
������)���������
����������=���5��)��:)��	������������L���������%�����
�
5���������	��
��)�� ������ ���� (������������ ����� ���� �)���� �
5�������	����)��

�
	����������������4�������
���
�����������������������
5�������������4�����
����

�����5)�4����
��)���%�

�� ���� �����2���� ���� @��3��
���������� �	� 
������
����
�	� ��������� ����������

:)���
�����������������	��������:)��������������(��������D:����
������E�(����

����������8������������8������
5��:�����?�)�
����� �����	��
4�� 5���������
$)��9�
�	�/��6�����=?(0��2������4�������	�?�2�����������������
�����
���%�



��$�6)$7
	
;�	
������																																																																																																						�	1�;==�2�%%7
-�22�
��

(
�)����%�*��������������������������������������������������������������������������������������������������������������������������������������G�

�� ���5
����
:)��
�����
�����8�����;��
���?
���5����	�@�6�����������N�'�Q	�

	��������	�(��������������������	�'���
�����(���8�������"���������
���:)�����
*�������
��������=������
������48�������'L������L�����4�����8������56����%�


��)�)�1
���5�������@�6���'�'��Q	�8������:)�� �������	�=
�	�
�8��������

?���)���� ��� 	����
���� ���� ���
	��9��������� ����:
����� A
��� ���������4�%�
?
���5��� �������@�6���8��������������	�'���
�����(���8���������'� :)����	�

=��������������
���:)�����*�������
�����8
�'�L�=������
����������4����%�

�� ����?�2�������������4��)����5
�����������������(������������������,-$
(.�#�
������3�����	���������������
����)1)������
5��������������.�����
�	�����
����

���� ��
�5� ��	
�1
���5���	������������ =
�	���4���� �)� �
���� ������

�����4�
5�)�������������
�
�)��1
���5������������������?��
��	�����4	
�5���
���������8��1
���5��3���@��
����)����
��������;�8�������(���	�������������	�


���	��������7���3������4�	�=
�	:)��	����������/�%�%0%�

�� *�������	� ��
�����(���8������;�8������:����������������
���
�����������4���
���������������7���������������� .���5��)������5)�� ������ ��������
�����7�����

1�)1
������8���;��������������������������������������������/=?(�V��;���J��;��0�

����������������������56�1���������
5��:��3������
�8���������	�=
�	�
�����
����
���������4�
5�)��
�
�)��48���������?'��������?��*
�5���4�����������%�

�� 
��
�����������������������������:)�
����
�������@��3��
������������	���

����7���
���������(
�)����2��
������������+	8����9������5
��������	1��������

�����1�)�����8�����;�(������������4��������������������������?��
�
�)����

�����4�
5�)������=3�	������������������������������������������/=?(�V��;���J�

�;��0�����������������������56�1���������
5��:��3������
�8��������	����������
��������	�'�������'���
�����(���8�������4�����������%�.��A������	�����3�5�����

?���)������<���������������"�)��������4����	������56�1���������
5��:��3���48%�

?
���5���������4�����)���������(���8�������
���
���1
�����������6���8�����%�

�� ����
���-��
����-)	1
����
������(���	��������	3���
�����
���:)���)	������

���� 2���� �%���� 	�"�� �������
�� =����:��� 
��4�������%� ,
��� ��������

������3�4�����)�����	�������	�(�������������������#91���������	
���,-$
(.�#�
���� ��?��
�
�)���� �����4� /�����4�
5�)�� '�0� �����2���� 
����)1)������


��)�)�1
���5��������@�6���'�'��Q	����� ������������������������������������

��������� 56�1��������� 
5��:��3�� ���� '��� 	�� =
�	����:)��	��� ��83����������
8������56�����/�%�%�'���
�����(���8������0%������	����	����������������������

!� ��
�������)�����	�����	������������
.=�-(�
,�=��)	1
��������%����	�"������

��?��
�
�)���� �����4�
5�)�� ���� =
�	:)��	��� :)�� ��8
� '��� ���� ���� 	��
���������8������56�����/�%�%�'��'���
�����(���8������0%�

�� ���� �����4�
5�)��
�
�)�� 48������� ��?'� ���� ��?�� / ��
����� (���8������"�0�

�)���������������@��3�����������:)���%����	�"������������7)�
�����4����������
	6��������)1��	
����(���:��������������4��������=
�	��6���:)����8
����������

	�����������8������56����%�

� �



��$�6)$7
	
;�	
������																																																																																																						�	1�;==�2�%%7
-�22�
��

(
�)����%�*��������������������������������������������������������������������������������������������������������������������������������������H�

�� ��� 8���� �	1�)����;� (������������ ������� #91�� 	6�������� �)� �	� =
�	� 4��

1)����)������;��
��������)1��	
������4������(���:������������4�����8������5
��%�

�

.�����
���;���%�G%���'�

�
��%�#�)	
��*������

B�����������������������:���������
����
��:����3��������2������		��1��4��������������5�������.�����3�	���

�



��$�6)$7
	
;�	
������																																																																																																																																		�	�($7;�$�;�

(
�)����%�*����������������������������������������������������������������������������������������������������������������������������������������

�	 ���������	

/'0�
,
(]�����=�7�=�=�.#+,@�
�=!@�,�=�7.=�,�[��=�
=
+*(+�##�-$,.�-$��
,(
@�,�+,���,#>.-C(+,@�7!,�
���.,��C#.!,�*
�,
$*�%��)��������:)��
������GG�%�@��6�������������������������
.���������)��������/����0%�$���%P�.���������2��(
�)�
�)���	�������#�
������)��	���4��;�$��4��
������
�����4�����	�,)��������>����
����
������+��:�����3��5����5�����=����+��:�����3��
�)���	;�@�)�����
���'';��������
��!�9��
�����

/�0�&+(.
,�>%�#
,@;�
,�=���%�,.-!((�;�-$=.�#.
,�
%�C(�##,�=;�&!7
,�
?
,#�(.-;�(.
,@���>
,@;�
*.,��.,��+$
.*.;�
�$(],,�]%�(%�#
,;�@
==�##�>%�^%�
!,@;�=+.C+,��+;�-$
,�=
���C$
=;��
7.���%�>%�-$�!,@;�C>!C�>
.�#$
*�
/��'�0%�
����)8��9�
	����)��$�	
��&���P�����4����
������
��������?)�����
���)������)��
.������)���
��)�)��%�.�P�?(!��!,�;�888%1�)�)��%)��;�'�
1������'�;�7)��	��H�.�������
����G��

/�0�&%�?%��+@+.�;�*%�%�#$���.A��
,��#$���+=
#.!,�!��
.=�-
==.
@��!��
=��?.=
#!=]��=!?(�#��
,���=!?(�#�,+-(�.%��)8��)
������)	�
���1�P""888%�
	������%)��"�)��%�.?�
������P�� %H�%'�H%'�';�)���'�*
9������
��''P�'P��;�
���S�����)�����-
	�������-)������	��)�����;�
:
��
����
��
���1�P""888%�
	������%)��"�)��"���	�%����1�P""�)�%)��"'�%'�'G"�����'G�����'��HH�

/�0�(]�.
��!+=!+.�
;��(.,����$
,��-$!�>�=-C�=�
,��&!$,�>%�*%��+�$�
/��'�0%�7�)������F1��
�)�9��:����P�)���)�������
�������4���%�&%�������*���%�/��'�0;�:)�%�G��;�
11%���GJ� �%�_��-
	�������+��:�����9�?�������'���)�P'�%'�'G"S�	%��'�%HH�

/�0�*.���(;�#%�+,����(#�,;�-%�/��� 0%�>��5�
	5����2���1�2�����#�����������
�����4	
��
�	����������
��
��8������
���	�������C)�����������?
���5��43�����%����)�*���,�%�
��� "��� ;��%�H��H��

/ 0��-$
??(�=��-$��(�;��%;�$
=#+,@;�&%;��-$[=*
,,;�>%;�*.���(;�#%;���,,.,@;�
-%�+,��>���=;�&%�/'��H0%�+���������������������������������@��3�������:)��

��������	��������
��
��8������
������C)	1)�����
��
����/?�)S�5����%�� 0%��������������������
������
���
����2��
�����������4�����
������	���4������)�������;�'��H%�

/G0�*.���(;�#%�+,��$
=#+,@�/����0%�?
���5��43������4������
������:)������		��1��4���
�������
������1�
�4
�	)�1�3��%�/?�)S�5�����'���0%��������������������������
���
����2��

�����������4�����
������	���4���J��)������������;�.��,�'������H ;�.��,���H ������H���

/H0�*.���(;�#%�/'��G0%�����������������>��5�
	5����5��	�	����)��	����������*
��
�	���
���>�����)���)�����
��
���%��.
���$
���������%�(��%�7..�"��G�

/�0�*.���(;�#%�/'��G0%�*�������:)��(���5��	������>�����)���)�����
��
���%�@��
����)������
=����
����������(�����G;��1���������7�.�7���
��'��GP��%��''���''H�

/'�0���(#�,;�-�%;�
(�=�-$#;�
%;�*.���(;�#%�+,��>.((�=;��%�/��� 0%�
����		��1��45)�4����
��)����
��
������1�3�4������C)	1)���������
��
�����	�7���������4�	�
������������C)���)��8��������#=�
��''%���������������������������
���
����2��
�����������4�
����
������	���4��;����'�H';����G;�.��,�'�P���H ���������;�.��,�'������H �



��$�6)$7
	
;�	
������																																																																																																																																							/	�
)�
��

(
�)����%�*����������������������������������������������������������������������������������������������������������������������������������������

/	 �
)�
�	

�

�


